
 Page 1 

 
 

INSTALLATION INSTRUCTIONS 

URBAN SERIES GROUND MOUNT CLOTHESLINES 

Contents  

 Leg Arm Stay Assembly Joiner ** Spreader Bar ** 

 2 off 2 off 2 off 2 off 4 off 

 

 
Unit 2, 36 Liverpool St 

Ingleburn NSW 2565 
T: 1300 459 327 

www.outbackclotheslines.com.au 



 Page 2 

 

 

 

 

 

 

 

 

 

 

 

 

**Clotheslines 2400mm or less use a 1 piece 

spreader bar (2 off).  

Spreader bar assembly consists of 2 Spreader 

Bars and 1 Joiner 

  

Tek Screw must only be 

removed if the length 

needs to be adjusted 



 Page 3 

Contents (continued) 

① Bolt, M8 x 110mm long 2 off ⑤ Aluminium Spacer 2 off 

 

② Bolt, M8 x 75mm long 4 off ⑥ Nylon Spacer 2 off 

 

③ Bolt, M8 x 60mm long  2 off ⑦ Top Hat Spacer 2 Off 

 

④ Lock Nut, M8 8 off 

 

Layout:  

• Dig 2 holes, 200mm diameter, for the 

posts. The hole centres are 160mm 

less than the length of the clothesline 

purchased (e.g. 2240mm for a 

2400mm clothesline, or 2840mm for 

a 3000mm clothesline). 

• The hole depth depends on the 

desired height of the clothesline. 

Ensure that the holes are deep 

enough that the spreader bar is level 

with the users head. 

• Assemble the spreader bar 

(clotheslines larger than 2400mm) 

making sure that the plugged ends 

fare on the end (see Figure 5). Bolt onto the 

legs as per figure 2. Use Bolt ②, Lock Nut 

④. 

• Set the poles in the ground with concrete. 

Ensure the posts and spreader bar are level. 

Leave concrete to set as per manufacturer’s 

instructions 

 

Figure 1 – Layout. 

Figure 2 – Bolt Back Bar onto Legs  

Front Face 

Make sure these hole 

are towards the front. 



 Page 4 

Assembly:  

• Bolt the Stay assembly to the OUTSIDE OF THE 

LEG (see Figure 3) using Bolt②, Lock Nut④, 

Nylon Spacer ⑥ with the “Oil” label facing 

the front 

** DO NOT TIGHTEN THE BOLTS ** 

• Bolt the Arm to the Leg using Bolt ①, 

Aluminium Spacer ⑤ and Lock Nut ④ (see 

Figure 4) 

• Bolt the Arm to the Stay Assembly using Bolt, 

③, Top Hat Spacer ⑦ and Lock Nut ④ (see 

Figure 4) 

• Repeat the procedure on the other leg. 

• Assemble the front bar. Insert the 2 spreaders 

into the joiner (clotheslines 2400mm long or 

less have a 1 piece spreader bar) 

• Insert the end of the spreader into the arm. 

• No screws are required to hold the spreader 

bar as the cord tension keeps everything in 

place. 

**TIP:  you may need to use a rubber mallet or 

soft piece of wood to tap the spreader bar into the 

arms and ensure they are properly seated. 

• Tighten all bolts. Do not over tighten as this will 

affect the smooth operation on the clothesline and 

may result in premature wear. 

 

  

Figure 3 – Bolt Stay Assembly onto Leg  

Figure 4 – Bolt Arm onto Leg and Stay Figure 5 – Spreader Bar assembly 

Spreader Bar 

Joiner 



 Page 5 

Feeding the cord: 

• Unroll the cord. 
 TIP: Always keep hold of the loose ends as this will prevent tangles. 

• Feed one end down the hole closest to the wall allowing approx. 300mm for tying. 

• Tie off as shown in the Figs 7 and 8.  

• Feed the cord through the remaining holes as shown in Fig 6.  

• To tension the cord, hold the free end tightly. Starting at the line closest to the wall, pull down 

firmly on the middle of the cord. Repeat the process on the next cord, working your way 

outwards removing any slack. Repeat the process until there is sufficient tension in the cord.  

• Tie the loose end as shown in Figs 5 and 6. Trim the ends of the cord, leaving 100mm to be fed 

through the hole as shown in Fig 6.  

Figure 7 – Tying off 

Tie off with 2 half hitches, 

trim line leaving 100mm 

to feed through hole 

Warranty Details 

City Living Clotheslines undertake the following guarantee for its manufactured products; 

*Replacement of cord for a period of one (1) year from date of purchase. 

*Replacement of any other component of the clothes line for a period of ten (10) years from the date of purchase. 

This Guarantee is conditional as follows; 

*Failure is due to faulty workmanship or faulty material, allowing for fair wear and tear. 

*No evidence of misuse or maladjustment by the owner or any person using or repairing the product with or without the owner’s consent. 

*No cost will be borne by City Living Clotheslines for freight, postage, in-situ dismantling, replacement, re-assembling and adjustment of the product. 

*Any malfunction of the product must be promptly reported to City Living Clotheslines for immediate attention to prevent further damage. When a user-generated 

problem is attended to by service Staff a service fee may be applicable. 

This Guarantee exceeds and does not preclude any rights assured by the Trade Practices Act and any other State and Territory Laws. 

Figure 6 – Feeding the cord 

Figure 8 – Tying off 

Pull Tight 


